
386 PU M A Mass Communication  
 

1 of 100  
149 PU_2016_386_E 
If A and B together can complete a piece of work in 15 days and B alone in 20 days, in how many days 
can A alone complete the work:-  

40  

60  

30  

45  
 

2 of 100  
184 PU_2016_386_E 
The small savings scheme PPF stands for:-  

Public Protection Fund  

Provident Profit Fund  

Public Provident Fund  

Profit for Public Fund  
 

3 of 100  
187 PU_2016_386_E 
Which among the following is a system software?  

Corel Draw  

Windows  

Mozilla Firefox  

Adobe Premier  
 

4 of 100  
203 PU_2016_386_E 
After the accident, the nerves to her arm were damaged and so the muscles ____ through disuse.  

elongated  

atrophied  

contracted  

invigorated  
 

5 of 100  
181 PU_2016_386_E 
ICDS was launched in the year:-  

1975  

1985  

1965  



1995  
 

6 of 100  
120 PU_2016_386_E 
Synonyms for: Bastille:-  

prison  

fop  

fortress  

jail  
 

7 of 100  
167 PU_2016_386_E 
On 27

th
March 2014 the World Health Organisation (WHO) officially declared India to be free from _____.  

Malaria  

Tuberculosis  

Measles  

Polio  
 

8 of 100  
121 PU_2016_386_E 
Select the word which best expresses the meaning of the given word:- 
 
ECSTATIC  

bewildered  

enraptured  

animated  

illful  
 

9 of 100  
165 PU_2016_386_E 
Kalbelia is a folk dance form of :-  

Maharashtra  

Madhya Pradesh  

Chattisgarh  

Rajasthan  
 

10 of 100  
202 PU_2016_386_E 
Unwilling to admit that they had been in error, the researchers tried to ____ their case with more data 
obtained from dubious sources.  

buttress  



absolve  

refute  

ascertain  
 

11 of 100  
209 PU_2016_386_E 
In which year was the UGC established?  

1954  

1958  

1956  

1952  
 

12 of 100  
205 PU_2016_386_E 
Who is the Chief Editor of 'The Indian Express' daily newspaper?  

Raj Kamal Jha  

Jaideep Bose  

Malini Parthasarathy 

Siddharth Varadarajan 
 

13 of 100  
189 PU_2016_386_E 
Which computer symbol matches this name - Parentheses ?  

{ }  

[ ]  

( )  

< >  
 

14 of 100  
143 PU_2016_386_E 
By selling a bicycle for Rs 2,850, a shopkeeper gains 14%. If the profit is reduced to 8%, then the selling 
price will be:-  

Rs 2600  

Rs 2700  

Rs 2800  

Rs 2900  
 

15 of 100  
112 PU_2016_386_E 
In the question, the underlined part of the sentence, may need improvement. Select which may be a 
better option. In case no improvement is needed, your answer is No improvement. 



 
By the time they reach the railway station the train will have left.  

would leave  

would have left  

will leave  

No improvement  
 

16 of 100  
113 PU_2016_386_E 
In the question, the underlined part of the sentence, may need improvement. Select which may be a 
better option. In case no improvement is needed, your answer is No improvement. 
 
No sooner did I get into the bus when it started moving.  

then  

while  

than  

No improvement  
 

17 of 100  
145 PU_2016_386_E 
A manufacturer marked an article at Rs 50 and sold it allowing 20% discount. If his profit was 25% , then 
the cost price of the article was :-  

Rs 35  

Rs 30  

Rs 40  

Rs 32  
 

18 of 100  
168 PU_2016_386_E 
The value of all goods and services produced by the normal residents of a country and their property, 
whether operating within the domestic territory of the country or outside in a year is termed as:-  

Net Domestic Product  

Net National Income  

Gross Domestic Product  

Gross National Income  
 

19 of 100  
124 PU_2016_386_E 
Select the related letter/word/number from the given options. 
 
57913 : EGIM : : 35816 : ?  

BCHP  



CEHQ  

CEHP  

CDIR  
 

20 of 100  
122 PU_2016_386_E 
Select the word which is most opposite in meaning to the underlined word:- 
 
It was a very dreary day.  

drab  

bright  

beautiful  

dangerous  
 

21 of 100  
188 PU_2016_386_E 
Find the odd term out.  

Linux  

Internet  

Windows  

Unix  
 

22 of 100  
125 PU_2016_386_E 
Select the related letter/word/number from the given options. 
 
Cup : Coffee : : Bowl : ?  

Dish  

Milk  

Soup  

Food  
 

23 of 100  
100 PU_2016_386_E 
Air India departed last. IndiGo departed before Spicejet. Spicejet departed after GoAir. GoAir departed 
before IndiGo. Jet Airways departed after Spicejet. Which airline departed first:-  

IndiGo  

Jet Airways  

GoAir  

Spicejet  
 



24 of 100  
161 PU_2016_386_E 
The headquarters of UNESCO is located at:-  

Paris  

Rome  

Geneva  

New York  
 

25 of 100  
141 PU_2016_386_E 
Two natural numbers are in the ratio 3:5 and their product is 2160. The smaller of the numbers is:-  

24  

12  

18  

36  
 

26 of 100  
162 PU_2016_386_E 
Dipa Karmakar created history by becoming the first Indian woman _______ to qualify for Olympics. She 
will represent the country in 2016 Rio Olympics Games.  

cyclist  

judoka  

gymnast  

sprinter  
 

27 of 100  
101 PU_2016_386_E 
The average score of three boys in Mathematics is 30. When the score of a fourth boy is added to the 
total score of the three boys, the average is lowered to 25. What is the score of the fourth boy:-  

15  

20  

25  

10  
 

28 of 100  
140 PU_2016_386_E 
1.14 expressed as a percent of 1.9 is:-  

90%  

6%  

10%  



60%  
 

29 of 100  
186 PU_2016_386_E 
What does Web Server Error Message 500 mean?  

Access forbidden/password protected  

Internal error/server configuration problems  

Site not found  

Bad file request/syntax error  
 

30 of 100  
129 PU_2016_386_E 
Select related word from the given options. 
 
Safe : Secure : : Protect ?  

Lock  

Conserve  

Sure  

Guard  
 

31 of 100  
111 PU_2016_386_E 
In these question, out of the four options, select the one which can be substituted for the given 
words/sentence. 
 
The belief that nothing can be known about God:-  

Henotheism  

Agnosticism  

Theism  

Atheism  
 

32 of 100  
190 PU_2016_386_E 
One megabyte is equal to:-  

3000 kilobyte  

4000 kilobyte  

100 kilobyte  

2000 kilobyte  
 

33 of 100  
114 PU_2016_386_E 
In the question, the underlined part of the sentence, may need improvement. Select which may be a 
better option. In case no improvement is needed, your answer is No improvement. 



 
The shopkeeper convinced the customer that the dress she wanted was out of shape in today's 
fashionable world.  

out of question  

out of date  

out of place  

No improvement  
 

34 of 100  
207 PU_2016_386_E 
How many Test matches has Sachin Tendulkar played for India?  

150  

200  

300  

250  
 

35 of 100  
164 PU_2016_386_E 
Operation flood' was launched in 1970 to:-  

Increase milk production  

Construct more dams  

Control floods  

Improve water sources  
 

36 of 100  
146 PU_2016_386_E 
A number, when divided by 114, leaves remainder 21. If the same number is divided by 19, then the 
remainder will be:-  

2  

7  

1  

17  
 

37 of 100  
204 PU_2016_386_E 
The revolution in art has not lost its steam; it ____ on as fiercely as ever.  

trudges  

meanders  

rages  

ambles  



 

38 of 100  
210 PU_2016_386_E 
Which strait separates India and Sri Lanka?  

Palk strait  

Bering strait  

Sunda strait  

Dampier strait  
 

39 of 100  
206 PU_2016_386_E 
Which actor won the 2016 Oscar award for the best actress in a leading role?  

Jennifer Lawrence  

Charlotte Rampling  

Brie Larson  

Cate Blanchett  
 

40 of 100  
201 PU_2016_386_E 
The student was extremely foolhardy; he had the ____ to question the senior professor's judgement.  

temerity  

trepidation  

interest  

wisdom  
 

41 of 100  
128 PU_2016_386_E 
Select the related word from the given options:- 
 
Physician :Treatment : : Judge : ?  

Court  

Judgement  

Punishment  

Lawyer  
 

42 of 100  
169 PU_2016_386_E 
Which one among the following is not a source of tax revenue for the Central Government of India  

Income tax  

Motor Vehicle tax  

Service tax  



Custom duties  
 

43 of 100  
166 PU_2016_386_E 
A pesticide which is a chlorinated hydrocarbon is sprayed on a food crop. The food chain is : Food crop - 
Rat - Snake - Hawk. In this food chain, the highest concentration of te pesticide would accumulate in 
which one of the following:-  

Rat  

Food crop  

Hawk  

Snake  
 

44 of 100  
126 PU_2016_386_E 
Select the related letter/word/number from the given options. 
 
Ink : Pen : : Petrol :-  

Bus  

Car  

Tractor  

Train  
 

45 of 100  
110 PU_2016_386_E 
In these question, out of the four options, select the one which can be substituted for the given 
words/sentence. 
 
A servile self-seeker who attempts to win favour by flattering influential people:-  

Sycophant  

Nepotist  

hedonist  

Psychopath  
 

46 of 100  
102 PU_2016_386_E 
Among five friends:- 
 
Abhi is taller to Tom but as tall as Mani.Mira is taller to Neha but not as tall as Leela.In this group who is 
the shortest?  

Mani  

Abhi  

Mira  

Neha  



 

47 of 100  
147 PU_2016_386_E 
If Rs 1000 is divided between A and B in the ratio of 3:2, then A will receive:-  

Rs 400  

Rs 800  

Rs 500  

Rs 600  
 

48 of 100  
185 PU_2016_386_E 
This computer abbreviation usually means HTML:-  

Hypertext Markup Language  

Hypertext Method Language  

Hypertext Meta Language  

Hypertext Machine Language  
 

49 of 100  
127 PU_2016_386_E 
Select the related letter/word/number from the given options. 
 
MAD : JXA : : RUN :-  

PRJ  

UXQ  

OSQ  

ORK  
 

50 of 100  
163 PU_2016_386_E 
Which one of the following is responsible for the preparation and presentation of Union Budget to the 
Parliament?  

Department of Economic Affairs  

Department of Expenditure  

Department of Financial Services  

Department of Revenue  
 

51 of 100  
142 PU_2016_386_E 
Two successive price increases of 10% and 10% of an article are equivalent to a single price increase of 
:-  

19%  

22%  



21%  

20%  
 

52 of 100  
208 PU_2016_386_E 
Which community was granted the minority status by the Government of India as recently as January 
2014.  

Buddhists  

Parsis  

Jains  

Sikhs  
 

53 of 100  
103 PU_2016_386_E 
A walks 10 metres in front and 10 metres to the right. Then every time turning to his left, he walks 5, 15 
and 15 metres respectively. What is the distance from his initial point:-  

23 metres  

5 metres  

15 metres  

10 metres  
 

54 of 100  
182 PU_2016_386_E 
Which Indian state doesn't have Panchayati Raj?  

Bihar  

Maharashtra  

Tamil Nadu  

Meghalaya  
 

55 of 100  
160 PU_2016_386_E 
Who among the following names was a famous Indian ornithologist:-  

Dr Salim Ali 

Dr SS Abhyankar  

Dr JBS Haldane  

Dr HG Khorana  
 

56 of 100  
104 PU_2016_386_E 
Select the option which best expresses the meaning of the underlined or given idiom/phrase. 
 
They are all at sixes and sevens:-  



in groups of sixes and sevens  

playing a game  

in agreement  

in disagreement  
 

57 of 100  
148 PU_2016_386_E 
Buses start from a bus terminal with a speed of 20 km/hr at intervals of 10 minutes. What is the speed of 
a man coming from opposite direction towards the bus terminal if he meets the buses at intervals of 8 
minutes:-  

5 km/hr  

4 km/hr  

7 km/hr  

3 km/hr  
 

58 of 100  
123 PU_2016_386_E 
Select the word which is most nearly the same in meaning to the underlined word:- 
 
He is very impulsive in everything he does.  

wary  

rash  

impressive  

deliberate  
 

59 of 100  
144 PU_2016_386_E 
If the ratio of cost price and selling price of an article be as 10:12, the percentage of profit is :-  

11  

8  

10  

15  
 

60 of 100  
183 PU_2016_386_E 
Which of the following is an example of electronic media?  

Book  

Television  

Leaflet  

Painting  



 

61 of 100  
227 PU_2016_386_M 
If south-east becomes north, north-east becomes west and so on, what will west become:-  

South-east  

North-east  

South  

South-west  
 

62 of 100  
231 PU_2016_386_M 
A child is looking for his father. He went 90 metres in the east before turning to his right. He went 20 
metres before turning to his right again to look for his father at his uncle's place 30 metres from this point. 
His father was not there. From here he went 100 metres to his north before meeting his father in a street. 
How far did the son meet his father from the starting point?  

140 m  

80 m  

260 m  

100 m  
 

63 of 100  
235 PU_2016_386_M 
Animals living in tree trunks are known as:-  

Arboreal  

Aquatic  

Amphibious  

Volant  
 

64 of 100  
250 PU_2016_386_M 
Select the option which expresses the meaning of the Idiom/Phrase. 
 
A tall order:-  

a normal task  

too difficult a task  

a simple task  

an easy task  
 

65 of 100  
246 PU_2016_386_M 
Select the word opposite in meaning to the given word. 
 
Attachment:-  



rejection  

reversion  

attraction  

detachment  
 

66 of 100  
242 PU_2016_386_M 
Out of the four options, select the one which best expresses the meaning of the given word. 
 
Predicament:-  

comment  

trying situation  

document  

lament  
 

67 of 100  
259 PU_2016_386_M 
When ten persons shake hands with one another, in how many ways is it possible?  

20  

45  

25  

40  
 

68 of 100  
243 PU_2016_386_M 
Select the word opposite in meaning to the given word. 
 
Obscure:-  

obvious  

hidden  

zealous  

Concealed  
 

69 of 100  
239 PU_2016_386_M 
Out of the four options, select the one which best expresses the meaning of the given word. 
 
Stable:-  

enduring  

firm  

adamant  



durable  
 

70 of 100  
258 PU_2016_386_M 
The difference between the simple interest received from two banks on Rs 500 for two years is Rs 2.50. 
What is the difference between their rates?  

0.5%  

2.5  

1%  

0.25%  
 

71 of 100  
230 PU_2016_386_M 
If SPARK is coded as TQBSL, what will be the code for FLAME:-  

GMBMF  

GMBNF  

GMCND  

GNBNF  
 

72 of 100  
238 PU_2016_386_M 
Out of the four options, select the one which best expresses the meaning of the given word. 
 
Incredible:-  

sceptical  

unbelievable  

incredulous  

impossible  
 

73 of 100  
223 PU_2016_386_M 
In which country's foreign embassy in London is Jualian Assange, the founder of Wikileaks, holed up ?  

Nicaragua  

Russia  

Ecuador  

Serbia  
 

74 of 100  
255 PU_2016_386_M 
A sentence has been given in Active/Passive Voice. Out of the four options suggested, select the one 
which best expresses the same sentence in Passive/Active. 
 
Many cities had been destroyed by the invaders in those days:-  



Many cities were destroyed in those days by invaders.  

The invaders destroy many cities in these days  

Many invaders destroyed cities in those days.  

In those days the invaders had destroyed many cities.  
 

75 of 100  
254 PU_2016_386_M 
A sentence has been given in Active/Passive Voice. Out of the four options suggested, select the one 
which best expresses the same sentence in Passive/Active. 
 
My neighbour described his history to me:-  

His history was described to me by my neighbor.  

His history had been described by my neihbour to me.  

Description of his history to me was done by my neighbour.  

My neighbour's history was described to me by himself.  
 

76 of 100  
222 PU_2016_386_M 
Which one among the following is not correctly matched?  

Concurrent List : Marriage  

Residuary List : Education  

State List : Agriculture  

Union List : Banking  
 

77 of 100  
226 PU_2016_386_M 
'Medicine' is to 'Sickness' as 'Book' is to ______.  

Teacher  

Author  

Ignorance  

Knowledge  
 

78 of 100  
251 PU_2016_386_M 
Select the option which expresses the meaning of the Idiom/Phrase. 
 
Hue and cry:-  

a burst of anger  

plenty of tears  

lot of laughter  



an uproar  
 

79 of 100  
234 PU_2016_386_M 
In which of the following processes is energy released:-  

Absorption  

Ingestion  

Photosynthesis  

Respiration  
 

80 of 100  
247 PU_2016_386_M 
Select the word opposite in meaning to the given word. 
 
Uniform:-  

a measure  

variable  

common  

Unfamiliar  
 

81 of 100  
294 PU_2016_386_D 
Which part of Indian Constitution declares the Ideals of Welfare state?  

Preamble  

Fundamental Rights  

Fundamental Duties  

Directive Principles of State Policy  
 

82 of 100  
279 PU_2016_386_D 
Which famous car manufacturer was involved in a controversy last year for forging emission test results in 
the USA?  

Renault  

Volkswagen  

BMW  

Mercedes Benz  
 

83 of 100  
298 PU_2016_386_D 
Which of the following is a rabi crop?  

Bajra  



Jawar  

Wheat  

Rice  
 

84 of 100  
287 PU_2016_386_D 
Which protocol is used to receive e-mail?  

HTTP  

POP3  

SMTP  

FTP  
 

85 of 100  
275 PU_2016_386_D 
Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it? 
 
aa_aabb_b_aa_aabb_bb  

abbab  

bbbaa  

babba  

aabbb  
 

86 of 100  
271 PU_2016_386_D 
Select the related word from the given alternatives:- 
 
SAFE : SECURE :: PROTECT : ?  

guard  

conserve  

sure  

lock  
 

87 of 100  
295 PU_2016_386_D 
The election disputes regarding the election of President and Vice-President of India can be heard by:-  

Supreme Court  

Central Election Commission  

Parliament  

Attorney-General of India  
 

88 of 100  



267 PU_2016_386_D 
Ranjan introduces Mani as the son of the only brother of his father's wife. How is Ranjan related to Mani:-  

Cousin  

Uncle  

Son  

Brother  
 

89 of 100  
299 PU_2016_386_D 
The Himalayan mountain system belongs to which of the following:-  

Block mountains  

Residual mountains  

Fold mountains  

Volcanic mountains  
 

90 of 100  
282 PU_2016_386_D 
Which one of the following is not a source of the tax revenue in Indian States?  

Land Revenue  

Motor Vehicle Tax  

Corporate Tax  

Entertainment Tax  
 

91 of 100  
278 PU_2016_386_D 
With which car brand would you identify the advertising slogan 'The Ultimate Driving Machine'?  

BMW  

Volkswagen  

Mercedes Benz  

Audi  
 

92 of 100  
291 PU_2016_386_D 
Which city is all set to become the world's first city to have 5G network by 2018?  

Stockholm  

Montreal  

Berlin  

New York  
 

93 of 100  



283 PU_2016_386_D 
The maximum duration of zero hour in Lok Sabha is:-  

30 minutes  

two hours  

unspecified  

one hour  
 

94 of 100  
266 PU_2016_386_D 
Find out the questioned number 6: 5 : 8 : ?  

2  

4  

6  

10  
 

95 of 100  
263 PU_2016_386_D 
`Running at a speed of 60 km per hour, a train passed through a 1.5 km long tunnel in two minutes. What 
is the length of the train:-  

1500 m  

500 m  

250 m  

1000 m  
 

96 of 100  
262 PU_2016_386_D 
A person travelled a distance of 50 km in 8 hours. He covered a part of the distance on foot at the rate of 
4 km per hour and a part on a bicycle at the rate of 10 km per hour. How much distance did he travel on 
foot:-  

40 km  

20 km  

30 km  

10 km  
 

97 of 100  
274 PU_2016_386_D 
If in a code language PARENT is written as BDFGJK and CHILDREN is written as MOXQUFGJ, how is 
reprint written in the code:-  

FGBUXJK  

BGBFXJK  

FGBFXJK  



FGBFXGD  
 

98 of 100  
290 PU_2016_386_D 
Which among the following is a video editing software?  

Cool Edit Pro  

Audacity  

Adobe Premier Pro  

WavePad  
 

99 of 100  
270 PU_2016_386_D 
In a joint family there are father, mother, 3 married sons and one unmarried daughter. Of the sons, 2 have 
2 daughters each, and one has a son. How many female members are there in the family:-  

6  

3  

2  

9  
 

100 of 100  
286 PU_2016_386_D 
How many bits are equal to 1 Byte?  

32  

100  

64  

8  
 


